Collisions inside Air Showers

N.G. Schultheiss
translated and adapted by K. Schadenberg

1 Introduction

In previous modules we discussed the standard model and the creation of an air shower. We briefly
mentioned the energies of the individual particles and how they are formed. In this module we will take

a closer look at this subject.

2 Wavelengths

What is colliding with what?

A cosmic ray hits a particle high up in the atmosphere. Lets suppose the cosmic ray was a high energy
photon. Light as you might know is both a wave and a particle, or more precise it shows wave-like
properties or particle-like properties depending on the situation. How can a wave collide with a particle?
As a rule of thumb we can say that this only happens if the wavelength is shorter than the diameter of

the particle. If the wavelength is longer it ‘flows’ around the particle as though is was not there.

We can calculate the wavelength of a photon using the equations derived by Max Planck:
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But other particles can also be seen as waves, we showed this in the module ‘de Broglie’ for electrons.

We can use the de Broglie equations to calculate the wavelength of these ‘particle-waves’:

A=— (2.2)
p

Exercise 1 : Calculate the wavelength of a 0.4 kg football moving at 15.0 m/s. Compare this to the
wavelength of visible light and a hydrogen-atom travelling at the speed of light. With which can you

make the most accurate measurements?

Exercise 2 : The previous exercise showed that a football has a certain wavelength when it moves.

However, we never see its wavelike properties, why is this?

What is the diameter of a football, how does it compare to the wavelength?



Equation 2.2 shows how to use the momentum of a particle to calculate its wavelength. It is important
to remember that momentum is a relativistically correct quantity. At high speeds, nearing the speed of
light, one cannot simply use the product of mass and speed to calculate the momentum. We need to use

a slightly modified version!:

b =ymov (2.3)

with mg the rest mass of the particle and y the Lorentz factor:

ye (2.4)

Equation 2.2 now becomes:

h v2
A=——\1-= (2.5)
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Cosmic rays can have energies in the range of GeVs, TeVs, or even higher in magnitude. In these situa-
tions we can use a short cut to calculate the de Broglie wavelength. At these energies the kinetic energy
of the particle is much larger than the rest mass, allowing us to neglect the rest mass (introducing

errors smaller than 1%):

_hc

A=
pc

(2.6)

were hc = 1239.84 eV-nm and pc is the energy of the particle in eV.

Exercise 3 : In the Large Hadron Collider (LHC) protons with energies up to 7 TeV are produced.
Compare the wavelength of these protons with the diameter of protons and quarks at rest. Can the

LHC ‘see’ inside a proton or quark?

3 Energies

When we want to validate a hypothesis it is convenient that we can test something under strict condi-
tions which are always the same. Unfortunately we cannot control cosmic radiation. It question now
becomes if we are able to create similar conditions in a laboratory. The most powerful particle acceler-
ator we have at the moment is the LHC. Protons are accelerated up to energies of 7 TeV. What is the

speed of the protons at this energy?

E =ymc? (3.1)

1See the modules ‘Relativity’ and ‘de Broglie’ for more details.
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Figure 3.1: Coordinate systems for different observers.

in which y is again the Lorentz factor.Using the rest mass of a proton, 938.3 “{—SV:

7 TeV =vy-938.3 MeV 3.2)
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We discussed the § factor in the module ‘Relativity’. Being close to one means that we are talking about

relativistic speeds. The same module showed that energy and momentum depend on the observer:
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for a particle moving only in the x-direction. Momentum and energy or not invariant, rest mass is and

therefore does not depend on the observer.

Collisions between cosmic rays and the atmosphere can be observed in different ways. Figure 3.1 part a
shows us a coordinate system (frame) which is fixed to the Earth. The target of the collision is standing

still. If the atmosphere is our laboratory we could also have said that we use the laboratory frame.

Figure 3.1 part b shows a frame moving with the cosmic ray and part ¢ shows a frame which is fixed
to the centre of gravity of the two particles involved in the collision. This last frame has the advantage

that the sum of momenta equals zero.

For every observer, independent of the chosen frame, the following equation must hold:
(Em?)et = (LE)* +(Lpi)e® (3.10)

If we want to compare the energy of the moving particle colliding with a stationary particle, we can use



two observers. One observer moves with the centre of gravity of the collision the other is fixed to the

laboratory frame. Using the energy of the LHC, the first observer would ‘see’:

E,=E,=7TeV=>) E=14TeV (3.11)
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Equation 3.10 becomes:

(X m?)ct= (L E;)” (3.13)

The mass is the same for both observers, this allows us to write:

(T E) = (L) + (X pi)c? (3.14)

We take the second particle (b) to be a proton:

E, =938.3 MeV (3.15)
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Using these numbers in the earlier equation yields:
(14 TeV)? = (E, +938.3 MeV)? + p2¢? (3.17)

We are left with two unknown, but related, variables; E, and p,. We can use Einstein’s notation for
energy and rewrite the momentum as observed mass times speed. To obtain the observed mass we must

again use the Lorentz factor.

E= )fmc2 (3.18)
p=ymuv (3.19)

Using the above equations to write p:

E E
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Using this in equation 3.17:

Eq)\?
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We said earlier that our factor § was nearly one, but we now have a particle moving towards an observer



placed at the centre of the frame from a positive direction: § = —1. Therefore:
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Collisions with this amount of energy are relatively rare in cosmic radiation, with a single HiISPARC

director we expect to measure about one each year.

4 After the first Collision

If we keep analysing the collisions in the centre of gravity frame the sum of momenta will always be
zero, all energy is available for the creation of new particles. The calculations in the previous section
showed that we have plenty energy to create a large number of different particles, including ones that
are stable (enough) to reach the surface of the Earth.

The module ‘Air Showers’ already showed us that we mostly measure muons (probably). The muon has
lifetime of 2.197-1079 s, its heavier brother the tauon only has a lifetime of 2.906- 10712 s, while the
lightest family member the electron is stable. Travelling at the speed of light, the muon is able to travel
nearly 660 m. But because of time dilation effects this becomes a few kilometres.

Why do we mostly measure muons? Even with the time dilation effect tauons decays too rapidly to
reach the surface of the Earth. Electrons are stable and could reach our detectors, but these particles

are easily caught by the atoms in the air causing ionisation of the air.

Exercise 4 : Assume muons are travelling through the atmosphere at half the speed of light. How large

is the distance travelled by half of the muons?

Exercise 5 : A second group of muons travels at 99% of the speed of light. How large is the distance

covered by half of these muons?

Exercise 6 : How large would your previous answer be if the particles where tauons?



